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1. Overall Description:

RAN2 discussed about the issue of possible misalignment between PTW and Coverage Window in IoT NTN when eDRX is configured (e.g., there is no PTW available
 for a UE when it is in coverage). 
Specifically, RAN2 would like to ask SA2 the following questions:
1) Whether the issue of misalignment between PTW and Coverage Window exists 
from SA2’s point of view if new Rel-18 DC enhancement (i.e., unavailability period) is supported?

2) If the answer 
to Q1 is yes, whether 
 it can be solved by network implementation ?
2. Actions:

To SA2
ACTION: 
RAN2 respectfully asks SA2 to provide feedback on
 the questions above.
3. Date of Next TSG-RAN WG2 Meetings:

TSG-RAN WG2 Meeting #123bis                9th - 13th October 2023

     Xiamen, China 

TSG-RAN WG2 Meeting #124
13th - 17th November 2023 

Chicago, USA

�Not sure whether such example issue “there is no PTW available for a UE when it is in coverage” can cover the issues identified by some RAN2 companies? At least for us, we think one possible issue is that part of PTW exists in Unavailability Period. But no strong view to remove or change it. Fine to keep since it may be not easy to agree more explicit statement on the issues (in such short time).


�This is not clear. Issue exists from Rel-17.


But in Rel-18, there is new Rel-18 DC solution, question should be if the issue still exists when new Rel-18 solution is supported.


�Can we also ask if SA2 thinks the issue does not exist (or no enhancement is needed), how it is handled from CN?


�Do we need to mention network implementation or consider network implementation as one of existing methods?


�In our understanding, we just need to mention an issue is found from RAN2 perspective, as per agreement. We should avoid asking SA2 for the necessity of further enhancement since RAN2 never discussed on nor agreed with this.   





Send an LS to SA2 to ask about the issue about misalignment between PTW and Coverage Window (e.g., whether it needs to be solved and if yes, whether it can be solved by NW implementation)





For progress, we are fine with capturing the agreement in the LS 2) bullet, i.e., � 


2) If the answer to Q1 is yes, whether it needs to be solved and if yes, whether it can be solved by NW implementation?





�We do NOT need to mention anything about enhancement or any solution strategy. We agreed for this as a compromise during our RAN2 meeting. SA2 are doing their works and we should let them do their works. We can only ask about the issue and if the issue exists, whether it can be solved by network implementation, without mentioning any enhancement etc. 


�We think such statements is still kind of confusing. Anyway CN has done several specification enhancements for R18 discontinuous coverage, including for PSM/DRX, for example, see below:





(TS 23.401 i20) If the UE requests power saving features the MME uses procedures defined in other clauses to provide the UE with timers (e.g. periodic TAU timer, extended idle mode DRX (see clause 5.13a), and PSM mode configuration (see clause 4.3.22)), and may also consider the Unavailability Period Duration (if available) and Start of Unavailability Period (if available). 





Then what are we expecting for such statements? If we really think SA2 should do their works instead of being impacted by the question that may imply kind of RAN2’s preconceived thoughts, we think the previous statement is the more general way to ask question. So we prefer to keep the previous saying “If the answer to Q1 is yes, whether it needs to be solved by further enhancement besides any existing method”. We think SA2 will certainly assume that existing method includes either existing specification method or implementation method.


�We can say “answer” for directness, no strong view though.
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